JL_

Addition (Vertical) Name:
Solve each problem. Answers
1
1) 15 2) 52 3) 16
+ 3 +15 + 8 2
3
4.
4 29 5 14 6 60 >
+11 + 1 + 31 5
7.
8.
7) 2 8) 863 9) 31 9.
+1 + 55 +17
i 10.
11.
12.
100 2 1) 3 129) 637 13.
+1 + 2 + 25
- - 14,
15.
13) 39 14) 798 15) 4
+ 6 +178 i
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Addition (Vertical) Name: Answer Key
Solve each problem. Answers
1, 18
1) 15 2) 52 3) 16
+ 3 + 15 + 8 2 67
18 67 24
3 24
4. 40
4 29 5 14 6 60 > 15
+11 + 1 +31 . o1
40 15 91
7. 3
8 918
2 8 863 9 31 9 48
+1 + b55 + 17
L 10, 3
3 918 48
11, )
12 662
100 2 1) 3 12) 637 13, 45
1 2 + 25
3 5 662 u.__ 976
15. S
13) 39 14) 798 15) 4
+ 6 +178 +1
45 976 5
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 1 11-15]27]20f13| 7| O
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Addition (Vertical) Name:
Solve each problem. Answers
91 67 3 18
40 5 918 15 1.
662 48 3 24
2,
1) 15 2) 52 3) 16 3.
+ 3 +15 + 8
4.
5.
6.
7.
4) 29 5) 14 6) 60
+11 + 1 +31 8.
9.
10.
11.
N2 8 863 9 31 "
+1 + 55 +17
100 2 1) 3 12) 637
+1 +2 + 25
M odified 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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